Secti Descripti CPMS I	ect: Old McHenry Road at US Route ion: 17-00085-10-CH This work consists of constructi right turn lanes from Old McHe Pin: B-01378 ate: 2/12/2019	ing dual left turn lanes from US Rou		nry Road and dual		
<b>Bidder</b> Berger Excavating Contractors Campanella & Sons, Inc. Copenhaver Construction Lake County Grading Company	Address 1205 Garland Road 39207 N Magnetics Blvd 75 Koppie Dr. 32901 N. IL Rte 21	<b>City, State, Zip</b> Wauconda, IL 60084 Wadsworth, IL 60083 Gilberts, IL 60136 Libertyville, IL 60048	<b>Bond</b> Bid Bond Bid Bond Bid Bond Bid Bond	<b>Bid Price</b> \$736,224.89 \$744,048.83 \$865,051.94 \$924,738.61	% Over/Under Eng. Estimate -18.04% -17.17% -3.70% 2.95%	\$ Over/Under Eng. Estimate -\$162,026.8 -\$154,202.9 -\$33,199.8 \$26,486.8
Engineer's Estimate				\$898,251.75		
Design	IDOT(2)	Contract Bidder	S	ES then Plan Rack		
Finance	Bid Tab File	Resident Eng.	A	dministrative Assis	stant	
Construction	Project File	Request By Mail	N	/Igr Capital Prograr	nming	

	Return Bid Tabulation													
		Old McHenry Road at US Route 12 Improvements 17-00085-10-CH												
		This work consists of constructing dual left turn lanes to US Route 12.	from US Route	12 to Old I	McHenry Road and dual	right turn lanes from	Old McHenry Road							
	CPMS Pin:	B-01378												
	Let Date:	2/12/2019												
Item No.	Pay Code	Description	Quantity	Unit	Eng Estir	nate	Berger Excavatin	g Contractors	Campanella 8	Sons, Inc.	Lake County Grad	ling Company	Copenhaver Co	onstruction
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20200100	EARTH EXCAVATION	2,056.00	CU YD	\$35.00	\$71,960.00	\$31.00	\$63,736.00	\$3.05	\$6,270.80	\$25.00	\$51,400.00	\$31.00	\$63,736.00
2	20400800	FURNISHED EXCAVATION	1,521.00	CU YD	\$35.00	\$53,235.00	\$0.01	\$15.21	\$59.10	\$89,891.10	\$20.00	\$30,420.00	\$10.00	\$15,210.00
3		TRENCH BACKFILL	56.00	CU YD	\$60.00	\$3,360.00	\$44.00	\$2,464.00	\$60.55	\$3,390.80	\$0.01	\$0.56	\$30.00	\$1,680.00
4		GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	3,729.00	SQ YD	\$2.00	\$7,458.00	\$1.60	\$5,966.40	\$2.00	\$7,458.00	\$2.00	\$7,458.00	\$2.00	\$7,458.00
5	21101615	TOPSOIL FURNISH AND PLACE, 4"	3,862.00	SQ YD	\$6.00	\$23,172.00	\$0.01	\$38.62	\$0.10	\$386.20	\$0.10	\$386.20	\$4.00	\$15,448.00
6	25000400	NITROGEN FERTILIZER NUTRIENT	72.00	POUND	\$3.00	\$216.00	\$5.00	\$360.00	\$1.10	\$79.20	\$1.00	\$72.00	\$1.00	\$72.00
7	25000600	POTASSIUM FERTILIZER NUTRIENT	72.00	POUND	\$3.00	\$216.00	\$5.00	\$360.00	\$1.10	\$79.20	\$1.00	\$72.00	\$1.00	\$72.00
8		EROSION CONTROL BLANKET	3,335.00	SQ YD	\$1.00	\$3,335.00	\$1.30	\$4,335.50	\$2.20	\$7,337.00	\$2.00	\$6,670.00	\$2.00	\$6,670.00
9		TEMPORARY EROSION CONTROL SEEDING		POUND	\$6.00	\$480.00	\$5.00	\$400.00	\$0.20	\$16.00	\$0.10	\$8.00	\$0.01	\$0.80
10		PERIMETER EROSION BARRIER	1,015.00	FOOT	\$3.00	\$3,045.00	\$3.00	\$3,045.00	\$3.50	\$3,552.50	\$3.00	\$3,045.00	\$2.00	\$2,030.00
11		INLET FILTERS	2.00	EACH	\$150.00	\$300.00	\$285.00	\$570.00	\$190.00	\$380.00	\$175.00	\$350.00	\$30.00	\$60.00
12 13		STONE RIPRAP, CLASS A5	5.00	SQ YD	\$150.00	\$750.00	\$250.00	\$1,250.00	\$373.00	\$1,865.00	\$375.00	\$1,875.00	\$120.00	\$600.00
		FILTER FABRIC	12.00	SQ YD	\$50.00	\$600.00	\$7.00	\$84.00	\$40.00	\$480.00	\$0.01	\$0.12	\$6.00	\$72.00
14	30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	3,264.00	SQ YD	\$20.00	\$65,280.00	\$20.00	\$65,280.00	\$25.05	\$81,763.20	\$31.00	\$101,184.00	\$12.00	\$39,168.00
15		AGGREGATE BASE COURSE, TYPE B 6"	40.00	SQ YD	\$30.00	\$1,200.00	\$32.00	\$1,280.00	\$44.25	\$1,770.00	\$20.00	\$800.00	\$11.00	\$440.00
16		BITUMINOUS MATERIALS (TACK COAT)	4,615.00	POUND	\$1.00	\$4,615.00	\$0.01	\$46.15	\$0.01	\$46.15	\$0.01	\$46.15	\$0.50	\$2,307.50
17	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	10.00	TON	\$300.00	\$3,000.00	\$100.00	\$1,000.00	\$110.00	\$1,100.00	\$100.00	\$1,000.00	\$170.00	\$1,700.00
18		LEVELING BINDER (HAND METHOD), N70	10.00	TON	\$300.00	\$3,000.00	\$100.00	\$1,000.00	\$110.00	\$1,100.00	\$100.00	\$1,000.00	\$170.00	\$1,700.00
19		POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	320.00	TON	\$110.00	\$35,200.00	\$117.15	\$37,488.00	\$120.65	\$38,608.00	\$117.15	\$37,488.00	\$140.00	\$44,800.00
20	40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	98.00	SQ YD	\$7.00	\$686.00	\$1.00	\$98.00	\$1.20	\$117.60	\$1.00	\$98.00	\$23.00	\$2,254.00
21	40600990	TEMPORARY RAMP	98.00	SQ YD	\$20.00	\$1,960.00	\$1.00	\$98.00	\$1.20	\$117.60	\$1.00	\$98.00	\$35.00	\$3,430.00
22		HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	860.00	TON	\$85.00	\$73,100.00	\$84.75	\$72,885.00	\$87.30	\$75,078.00	\$84.75	\$72,885.00	\$84.00	\$72,240.00
23		HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	639.00	TON	\$90.00	\$57,510.00	\$90.65	\$57,925.35	\$93.40	\$59,682.60	\$90.65	\$57,925.35	\$95.00	\$60,705.00
24	42001300	PROTECTIVE COAT	279.00	SQ YD	\$2.00	\$558.00	\$4.00	\$1,116.00	\$4.20	\$1,171.80	\$0.01	\$2.79	\$3.00	\$837.00
25	44000100	PAVEMENT REMOVAL	453.00	SQ YD	\$10.00	\$4,530.00	\$12.00	\$5,436.00	\$23.80	\$10,781.40	\$55.00	\$24,915.00	\$15.00	\$6,795.00
26		HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	5,295.00	SQ YD	\$3.50	\$18,532.50	\$3.45	\$18,267.75	\$3.65	\$19,326.75	\$3.45	\$18,267.75	\$4.00	\$21,180.00
27	44201761	CLASS D PATCHES, TYPE I, 10 INCH	265.00	SQ YD	\$120.00	\$31,800.00	\$40.00	\$10,600.00	\$41.20	\$10,918.00	\$40.00	\$10,600.00	\$100.00	\$26,500.00
28	44201765	CLASS D PATCHES, TYPE II, 10 INCH	265.00	SQ YD	\$100.00	\$26,500.00	\$40.00	\$10,600.00	\$41.20	\$10,918.00	\$40.00	\$10,600.00	\$100.00	\$26,500.00
29	44201769	CLASS D PATCHES, TYPE III, 10 INCH	18.00	SQ YD	\$100.00	\$1,800.00	\$40.00	\$720.00	\$41.20	\$741.60	\$40.00	\$720.00	\$100.00	\$1,800.00
30	44213200	SAW CUTS	2,084.00	FOOT	\$2.75	\$5,731.00	\$3.25	\$6,773.00	\$3.00	\$6,252.00	\$4.50	\$9,378.00	\$3.00	\$6,252.00

LakeCounty Division of Transportation

	Project:	Old McHenry Road at US Route 12 Improvements				Re	turn Bid Tabula	tion						
	•	17-00085-10-CH												
	Description:	This work consists of constructing dual left turn lane	s from US Route	12 to Old	McHenry Road and dual	right turn lanes from	Old McHenry Road							
		to US Route 12.												
	CPMS Pin: Let Date:													
		· · ·										-		
em No.	Pay Code	Description	Quantity	Unit	Eng Estim	ate	Berger Excavating	g Contractors	Campanella &	Sons, Inc.	Lake County Grad	ling Company	Copenhaver Co	nstruction
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
31	48101200	AGGREGATE SHOULDERS, TYPE B	137.00	TON	\$40.00	\$5,480.00	\$42.00	\$5,754.00	\$68.55	\$9,391.35	\$100.00	\$13,700.00	\$35.00	\$4,795.0
32	54213657	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	1.00	EACH	\$600.00	\$600.00	\$1,650.00	\$1,650.00	\$1,357.00	\$1,357.00	\$4,000.00	\$4,000.00	\$700.00	\$700.0
33	54213663	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 18"	2.00	EACH	\$750.00	\$1,500.00	\$2,100.00	\$4,200.00	\$1,445.00	\$2,890.00	\$5,000.00	\$10,000.00	\$800.00	\$1,600.0
34	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	86.00	FOOT	\$45.00	\$3,870.00	\$95.00	\$8,170.00	\$54.60	\$4,695.60	\$100.00	\$8,600.00	\$83.00	\$7,138.0
35		STORM SEWERS, CLASS A, TYPE 1 18"	70.00	FOOT	\$50.00	\$3,500.00	\$96.00	\$6,720.00	\$70.05	\$4,903.50	\$120.00	\$8,400.00	\$100.00	\$7,000.0
36	55100900	STORM SEWER REMOVAL 18"	66.00	FOOT	\$8.00	\$528.00	\$30.00	\$1,980.00	\$18.10	\$1,194.60	\$20.00	\$1,320.00	\$10.00	\$660.0
37	60100905	PIPE DRAINS 4"	100.00	FOOT	\$25.00	\$2,500.00	\$21.00	\$2,100.00	\$27.90	\$2,790.00	\$0.01	\$1.00	\$12.00	\$1,200.0
38	60100915	PIPE DRAINS 6"	100.00	FOOT	\$30.00	\$3,000.00	\$22.00	\$2,200.00	\$28.90	\$2,890.00	\$0.01	\$1.00	\$17.00	\$1,700.0
39	60108104	PIPE UNDERDRAINS, TYPE 1, 4"	1,832.00	FOOT	\$20.00	\$36,640.00	\$7.00	\$12,824.00	\$3.40	\$6,228.80	\$5.00	\$9,160.00	\$10.00	\$18,320.0
40	60208240	CATCH BASINS, TYPE C, TYPE 24 FRAME AND GRATE	1.00	EACH	\$2,000.00	\$2,000.00	\$1,815.00	\$1,815.00	\$1,525.00	\$1,525.00	\$5,000.00	\$5,000.00	\$3,200.00	\$3,200.0
41	60219540	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 24 FRAME AND GRATE	1.00	EACH	\$3,000.00	\$3,000.00	\$3,220.00	\$3,220.00	\$2,985.00	\$2,985.00	\$6,000.00	\$6,000.00	\$3,100.00	\$3,100.0
42		FRAMES AND LIDS TO BE ADJUSTED	1.00	EACH	\$1,500.00	\$1,500.00	\$1,050.00	\$1,050.00	\$375.00	\$375.00	\$500.00	\$500.00	\$800.00	\$800.0
43	60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	815.00	FOOT	\$25.00	\$20,375.00	\$26.75	\$21,801.25	\$28.10	\$22,901.50	\$41.75	\$34,026.25	\$24.00	\$19,560.0
44		EXPLORATION TRENCH 52" DEPTH	50.00	FOOT	\$50.00	\$2,500.00	\$40.00	\$2,000.00	\$46.80	\$2,340.00	\$20.00	\$1,000.00	\$10.00	\$500.0
45		MOBILIZATION	1.00	LSUM	\$42,000.00	\$42,000.00	\$41,000.00	\$41,000.00	\$44,869.55	\$44,869.55	\$55,000.00	\$55,000.00	\$48,900.00	\$48,900.0
46	70300100	SHORT TERM PAVEMENT MARKING	4,614.00	FOOT	\$1.00	\$4,614.00	\$0.01	\$46.14	\$0.05	\$230.70	\$0.01	\$46.14	\$1.00	\$4,614.0
47		SHORT TERM PAVEMENT MARKING REMOVAL	513.00	SQ FT	\$1.50	\$769.50	\$0.01	\$5.13	\$2.00	\$1,026.00	\$0.01	\$5.13	\$2.00	\$1,026.0
48	70300900	PAVEMENT MARKING TAPE, TYPE IV - LETTERS AND SYMBOLS	556.20	SQ FT	\$5.50	\$3,059.10	\$0.01	\$5.56	\$0.01	\$5.56	\$0.01	\$5.56	\$3.00	\$1,668.6
49		PAVEMENT MARKING TAPE, TYPE IV 4"	3,404.00	FOOT	\$1.00	\$3,404.00	\$0.01	\$34.04	\$0.01	\$34.04	\$0.01	\$34.04	\$1.20	\$4,084.8
50		PAVEMENT MARKING TAPE, TYPE IV 5"	1,215.00	FOOT	\$1.25	\$1,518.75	\$0.01	\$12.15	\$0.01	\$12.15	\$0.01	\$12.15	\$1.50	\$1,822.5
51		PAVEMENT MARKING TAPE, TYPE IV 6"	1,761.00	FOOT	\$1.50	\$2,641.50	\$0.01	\$17.61	\$0.01	\$17.61	\$0.01	\$17.61	\$1.80	\$3,169.8
52		PAVEMENT MARKING TAPE, TYPE IV 12"	504.00	FOOT	\$3.00	\$1,512.00	\$0.01	\$5.04	\$0.01	\$5.04	\$0.01	\$5.04	\$5.00	\$2,520.0
53		PAVEMENT MARKING TAPE, TYPE IV 24"	155.00	FOOT	\$6.00	\$930.00	\$0.01	\$1.55	\$0.01	\$1.55	\$0.01	\$1.55	\$6.00	\$930.0
54		SIGN PANEL - TYPE 1	22.00	SQ FT	\$30.00	\$660.00	\$40.00	\$880.00	\$42.00	\$924.00	\$40.00	\$880.00	\$35.00	\$770.0
55		REMOVE SIGN PANEL - TYPE 1	5.00	SQ FT	\$25.00	\$125.00	\$25.00	\$125.00	\$26.25	\$131.25	\$25.00	\$125.00	\$50.00	\$250.0
56	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	556.20	SQ FT	\$4.00	\$2,224.80	\$4.50	\$2,502.90	\$4.75	\$2,641.95	\$4.00	\$2,224.80	\$4.00	\$2,224.8
57	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	3,404.00	FOOT	\$0.75	\$2,553.00	\$0.63	\$2,144.52	\$0.70	\$2,382.80	\$0.65	\$2,212.60	\$1.30	\$4,425.2
58	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	1,215.00	FOOT	\$1.00	\$1,215.00	\$0.72	\$874.80	\$0.80	\$972.00	\$0.70	\$850.50	\$1.60	\$1,944.0
59	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE	1,761.00	FOOT	\$1.50	\$2,641.50	\$0.95	\$1,672.95	\$1.00	\$1,761.00	\$0.80	\$1,408.80	\$2.00	\$3,522.0

LakeCounty Division of Transportation

	Return Bid Tabulation													
		Old McHenry Road at US Route 12 Improvements												
		17-00085-10-CH This work consists of constructing dual left turn lane	s from US Route	e 12 to Old	McHenry Road and dua	l right turn lanes from	Old McHenry Road							
	Description:	to US Route 12.												
	CPMS Pin: Let Date:													
					1	-								
Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	Berger Excavatin	g Contractors	Campanella	& Sons, Inc.	Lake County Grad	ding Company	Copenhaver Co	nstruction
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
60	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	504.00	FOOT	\$3.00	\$1,512.00	\$2.25	\$1,134.00	\$2.35	\$1,184.40	\$1.70	\$856.80	\$4.00	\$2,016.00
61	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	155.00	FOOT	\$6.00	\$930.00	\$4.50	\$697.50	\$4.75	\$736.25	\$4.00	\$620.00	\$8.00	\$1,240.00
62	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	10.00	EACH	\$25.00	\$250.00	\$65.00	\$650.00	\$100.00	\$1,000.00	\$50.00	\$500.00	\$50.00	\$500.00
63	81028200	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2" DIA.	111.00	FOOT	\$25.00	\$2,775.00	\$18.50	\$2,053.50	\$19.10	\$2,120.10	\$18.50	\$2,053.50	\$20.00	\$2,220.00
64	81028220	UNDERGROUND CONDUIT, GALVANIZED STEEL, 3" DIA.	57.00	FOOT	\$30.00	\$1,710.00	\$27.90	\$1,590.30	\$28.75	\$1,638.75	\$27.90	\$1,590.30	\$30.00	\$1,710.00
65	81028240	UNDERGROUND CONDUIT, GALVANIZED STEEL, 4" DIA.	52.00	FOOT	\$50.00	\$2,600.00	\$44.10	\$2,293.20	\$45.45	\$2,363.40	\$44.10	\$2,293.20	\$49.00	\$2,548.00
66	81400200	HEAVY-DUTY HANDHOLE	1.00	EACH	\$2,100.00	\$2,100.00	\$1,853.00	\$1,853.00	\$1,910.00	\$1,910.00	\$1,853.00	\$1,853.00	\$2,000.00	\$2,000.00
67	87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	473.00	FOOT	\$1.20	\$567.60	\$1.20	\$567.60	\$1.25	\$591.25	\$1.20	\$567.60	\$2.00	\$946.00
68	87301245	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 5C	429.00	FOOT	\$1.40	\$600.60	\$1.40	\$600.60	\$1.45	\$622.05	\$1.40	\$600.60	\$2.00	\$858.00
69	87301255	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 7C	238.00	FOOT	\$1.60	\$380.80	\$1.70	\$404.60	\$1.75	\$416.50	\$1.70	\$404.60	\$2.00	\$476.00
70		ELECTRIC CABLE IN CONDUIT, LEAD-IN, NO. 14 1 PAIR	869.00	FOOT	\$1.30	\$1,129.70	\$1.00	\$869.00	\$1.10	\$955.90	\$1.00	\$869.00	\$1.20	\$1,042.80
71	87301900	ELECTRIC CABLE IN CONDUIT, EQUIPMENT GROUNDING CONDUCTOR, NO. 6 1C	153.00	FOOT	\$1.85	\$283.05	\$1.60	\$244.80	\$1.65	\$252.45	\$1.60	\$244.80	\$2.00	\$306.00
72	87700230	STEEL MAST ARM ASSEMBLY AND POLE, 38 FT.	1.00	EACH	\$9,000.00	\$9,000.00	\$11,106.00	\$11,106.00	\$11,440.00	\$11,440.00	\$11,106.00	\$11,106.00	\$13,000.00	\$13,000.00
73		CONCRETE FOUNDATION, TYPE A	4.00	FOOT	\$250.00	\$1,000.00	\$196.30	\$785.20	\$202.20	\$808.80	\$196.30	\$785.20	\$220.00	\$880.00
74	87800415	CONCRETE FOUNDATION, TYPE E 36-INCH DIAMETER	11.00	FOOT	\$300.00	\$3,300.00	\$247.00	\$2,717.00	\$255.00	\$2,805.00	\$247.00	\$2,717.00	\$270.00	\$2,970.00
75	87900200	DRILL EXISTING HANDHOLE	2.00	EACH	\$350.00	\$700.00	\$347.00	\$694.00	\$360.00	\$720.00	\$347.00	\$694.00	\$390.00	\$780.00
76	88030020	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, MAST- ARM MOUNTED	1.00	EACH	\$1,150.00	\$1,150.00	\$830.00	\$830.00	\$855.00	\$855.00	\$830.00	\$830.00	\$1,000.00	\$1,000.00
77	88030050	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, BRACKET MOUNTED	1.00	EACH	\$950.00	\$950.00	\$819.00	\$819.00	\$845.00	\$845.00	\$819.00	\$819.00	\$1,000.00	\$1,000.00
78	88200510	TRAFFIC SIGNAL BACKPLATE, RETROREFLECTIVE	3.00	EACH	\$250.00	\$750.00	\$306.00	\$918.00	\$320.00	\$960.00	\$306.00	\$918.00	\$340.00	\$1,020.00
79	88500100	INDUCTIVE LOOP DETECTOR	2.00	EACH	\$200.00	\$400.00	\$160.00	\$320.00	\$165.00	\$330.00	\$160.00	\$320.00	\$180.00	\$360.00
80	88600100	DETECTOR LOOP, TYPE I	461.00	FOOT	\$30.00	\$13,830.00	\$16.20	\$7,468.20	\$16.70	\$7,698.70	\$16.20	\$7,468.20	\$18.00	\$8,298.00
81	88700200	LIGHT DETECTOR	2.00	EACH	\$1,500.00	\$3,000.00	\$1,079.00	\$2,158.00	\$1,111.40	\$2,222.80	\$1,079.00	\$2,158.00	\$1,200.00	\$2,400.00
82	88700300	LIGHT DETECTOR AMPLIFIER	1.00	EACH	\$4,500.00	\$4,500.00	\$3,985.00	\$3,985.00	\$4,105.00	\$4,105.00	\$3,985.00	\$3,985.00	\$4,400.00	\$4,400.00
83	89000100	TEMPORARY TRAFFIC SIGNAL INSTALLATION	1.00	EACH	\$40,000.00	\$40,000.00	\$29,950.00	\$29,950.00	\$30,848.50	\$30,848.50	\$29,950.00	\$29,950.00	\$33,000.00	\$33,000.00
84	89500100	RELOCATE EXISTING SIGNAL HEAD	3.00	EACH	\$500.00	\$1,500.00	\$648.00	\$1,944.00	\$668.00	\$2,004.00	\$648.00	\$1,944.00	\$700.00	\$2,100.00
85	89501150	RELOCATE EXISTING TRAFFIC SIGNAL POST	1.00	EACH	\$750.00	\$750.00	\$512.00	\$512.00	\$530.00	\$530.00	\$512.00	\$512.00	\$600.00	\$600.00

業	LakeCo	Dunty												
	Section:		s from US Rout	e 12 to Old	McHenry Road and dua		<b>turn Bid Tabula</b> Old McHenry Road	ition						
Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	Berger Excavatin	g Contractors	Campanella 8	& Sons, Inc.	Lake County Gra	ding Company	Copenhaver Co	onstruction
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
86	89502200	MODIFY EXISTING CONTROLLER	1.00	EACH	\$2,000.00	\$2,000.00	\$1,781.00	\$1,781.00	\$1,835.00	\$1,835.00	\$1,781.00	\$1,781.00	\$2,000.00	\$2,000.00
87		MODIFY EXISTING CONTROLLER CABINET	1.00	EACH	\$1,000.00	\$1,000.00	\$1,081.00	\$1,081.00	\$1,115.00	\$1,115.00	\$1,081.00	\$1,081.00	\$1,200.00	\$1,200.00
88		REMOVE ELECTRIC CABLE FROM CONDUIT	1,557.00	FOOT	\$0.75	\$1,167.75	\$0.40	\$622.80	\$0.50	\$778.50	\$0.40	\$622.80	\$0.50	\$778.50
89		REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	1.00	EACH	\$1,500.00	\$1,500.00	\$1,760.00	\$1,760.00	\$1,812.80	\$1,812.80	\$1,760.00	\$1,760.00	\$2,000.00	\$2,000.00
90	89502380	REMOVE EXISTING HANDHOLE	1.00	EACH	\$375.00	\$375.00	\$440.00	\$440.00	\$450.00	\$450.00	\$440.00	\$440.00	\$500.00	\$500.00
91	89502385	REMOVE EXISTING CONCRETE FOUNDATION	2.00	EACH	\$400.00	\$800.00	\$220.00	\$440.00	\$225.00	\$450.00	\$220.00	\$440.00	\$250.00	\$500.00
92	LC200051	REJECTED LOAD TRANSPORTATION	5.00	LOAD	\$200.00	\$1,000.00	\$265.00	\$1,325.00	\$115.00	\$575.00	\$100.00	\$500.00	\$50.00	\$250.00
93		MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	8,339.00	UNIT	\$1.00	\$8,339.00	\$1.00	\$8,339.00	\$1.00	\$8,339.00	\$1.00	\$8,339.00	\$1.00	\$8,339.00
94		PERMEABLE PLASTIC BERM	106.00	FOOT	\$25.00	\$2,650.00	\$19.00	\$2,014.00	\$15.00	\$1,590.00	\$15.00	\$1,590.00	\$10.00	\$1,060.00
95		INSTALL SURVEY MONUMENTS	1.00	EACH	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$4,000.00	\$4,000.00
96		EMERGENCY VEHICLE PRIORITY SYSTEM LINE SENSOR CABLE, NO. 20 3/C	473.00	FOOT	\$1.15	\$543.95	\$1.00	\$473.00	\$1.20	\$567.60	\$1.00	\$473.00	\$1.20	\$567.60
97	X0327980	PAVEMENT MARKING REMOVAL - WATER BLASTING	603.00	SQ FT	\$5.00	\$3,015.00	\$3.00	\$1,809.00	\$3.15	\$1,899.45	\$3.00	\$1,809.00	\$4.00	\$2,412.00
98	X2070304	POROUS GRANULAR EMBANKMENT, SPECIAL	100.00	CU YD	\$70.00	\$7,000.00	\$69.00	\$6,900.00	\$77.20	\$7,720.00	\$80.00	\$8,000.00	\$35.00	\$3,500.00
99	X2511630	EROSION CONTROL BLANKET (SPECIAL)	530.00	SQ YD	\$4.00	\$2,120.00	\$2.00	\$1,060.00	\$2.75	\$1,457.50	\$2.50	\$1,325.00	\$4.00	\$2,120.00
100	X2800500	INLET PROTECTION, SPECIAL	2.00	EACH	\$400.00	\$800.00	\$450.00	\$900.00	\$165.00	\$330.00	\$150.00	\$300.00	\$100.00	\$200.00
101	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	5.00	CAL MO	\$3,000.00	\$15,000.00	\$2,100.00	\$10,500.00	\$2,500.00	\$12,500.00	\$3,000.00	\$15,000.00	\$1,200.00	\$6,000.00
102	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.00	L SUM	\$21,000.00	\$21,000.00	\$65,000.00	\$65,000.00	\$8,525.00	\$8,525.00	\$136,000.00	\$136,000.00	\$97,000.00	\$97,000.00
103	X7015005	CHANGEABLE MESSAGE SIGN	150.00	CAL DAY	\$40.00	\$6,000.00	\$28.00	\$4,200.00	\$29.50	\$4,425.00	\$28.00	\$4,200.00	\$35.00	\$5,250.00
104	X7030005	TEMPORARY PAVEMENT MARKING REMOVAL	3,892.00	SQ FT	\$0.70	\$2,724.40	\$0.01	\$38.92	\$0.50	\$1,946.00	\$0.01	\$38.92	\$1.00	\$3,892.00
105	X7240500	RELOCATE EXISTING SIGNS	1.00	EACH	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$500.00	\$500.00	\$100.00	\$100.00	\$400.00	\$400.00
106		RECESSED REFLECTIVE PAVEMENT MARKER	96.00	EACH	\$35.00	\$3,360.00	\$47.50	\$4,560.00	\$49.90	\$4,790.40	\$40.00	\$3,840.00	\$64.00	\$6,144.00
107		GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	374.20	SQ FT	\$10.00	\$3,742.00	\$3.00	\$1,122.60	\$3.15	\$1,178.73	\$2.00	\$748.40	\$1.20	\$449.04
108	X7830070	GROOVING FOR RECESSED PAVEMENT MARKING 5"	3,328.00	FOOT	\$1.00	\$3,328.00	\$0.65	\$2,163.20	\$0.70	\$2,329.60	\$0.50	\$1,664.00	\$0.50	\$1,664.00
109		GROOVING FOR RECESSED PAVEMENT MARKING 6"	1,089.00	FOOT	\$1.25	\$1,361.25	\$0.95	\$1,034.55	\$1.00	\$1,089.00	\$0.65	\$707.85	\$0.50	\$544.50
110	X7830074	GROOVING FOR RECESSED PAVEMENT MARKING 7"	731.00	FOOT	\$1.50	\$1,096.50	\$1.00	\$731.00	\$1.05	\$767.55	\$0.75	\$548.25	\$0.70	\$511.70
111	X7830078	GROOVING FOR RECESSED PAVEMENT MARKING 13"	504.00	FOOT	\$2.50	\$1,260.00	\$1.50	\$756.00	\$1.60	\$806.40	\$1.50	\$756.00	\$1.20	\$604.80

貒	E LakeCounty         Division of Transportation         Project:       Old McHenry Road at US Route 12 Improvements													
	Section: 17-00085-10-CH This work consists of constructing dual left turn lanes from US Route 12 to Old McHenry Road and dual right turn lanes from Old McHenry Road Description: CPMS Pin: b-01378 Let Date: 2/12/2019													
Item No.	n No. Pay Code Description Quantity Unit Eng Estimate Berger Excavating Contractors Campanella & Sons, Inc. Lake County Grading Company Copenhaver Construction													
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
	112 X7830090 GROOVING FOR RECESSED PAVEMENT 50.00 EDOT \$5.00 \$250.00 \$3.00 \$150.00 \$3.15 \$157.50 \$5.00 \$250.00 \$3.00 \$150.00													
112	112 X7830090 50.00 FOOT \$5.00 \$250.00 \$3.00 \$150.00 \$3.15 \$157.50 \$5.00 \$250.00 \$150.00 MARKING 25"												\$3.00	\$150.00
112	x7830090		50.00 3,862.00	FOOT SQ YD	\$5.00 <mark>\$6.00</mark>	\$250.00 <mark>\$23,172.00</mark>	\$3.00 \$6.10	\$150.00 \$23,558.20	\$3.15 \$3.70	\$157.50 <mark>\$14,289.40</mark>	\$5.00 <b>\$3.50</b>	\$250.00 <b>\$13,517.00</b>	\$3.00 \$6.00	\$150.00 <mark>\$23,172.00</mark>
	X7830090 XX006343	MARKING 25"						·						
113	X7830090 XX006343 XX006658	MARKING 25" SEEDING (COMPLETE)	3,862.00 5.00	SQ YD	\$6.00	\$23,172.00	\$6.10	\$23,558.20	\$3.70	\$14,289.40	\$3.50	\$13,517.00	\$6.00	\$23,172.00
113 114	X7830090 XX006343 XX006658 XX006659	MARKING 25" SEEDING (COMPLETE) FLOCCULATION LOGS	3,862.00 5.00	SQ YD EACH	\$6.00 \$300.00	\$23,172.00 \$1,500.00	\$6.10 \$15.00	\$23,558.20 \$75.00	\$3.70 \$20.00	\$14,289.40 \$100.00	\$3.50 \$10.00	\$13,517.00 \$50.00	\$6.00 \$200.00	\$23,172.00 \$1,000.00
113 114 115	x7830090 xx006343 xx006658 xx006659 z0019600	MARKING 25" SEEDING (COMPLETE) FLOCCULATION LOGS FLOCCULATION POWDER	3,862.00 5.00 30.00	SQ YD EACH POUND	\$6.00 \$300.00 \$35.00	\$23,172.00 \$1,500.00 \$1,050.00	\$6.10 \$15.00 \$2.00	\$23,558.20 \$75.00 \$60.00	\$3.70 \$20.00 \$2.00	\$14,289.40 \$100.00 \$60.00	\$3.50 \$10.00 \$1.00	\$13,517.00 \$50.00 \$30.00	\$6.00 \$200.00 \$10.00	\$23,172.00 \$1,000.00 \$300.00
113 114 115 116	x7830090 xx006343 xx006658 xx006659 z0019600 z0030850	MARKING 25" SEEDING (COMPLETE) FLOCCULATION LOGS FLOCCULATION POWDER DUST CONTROL WATERING	3,862.00 5.00 30.00 100.00	SQ YD EACH POUND UNIT	\$6.00 \$300.00 \$35.00 \$10.00	\$23,172.00 \$1,500.00 \$1,050.00 \$1,000.00	\$6.10 \$15.00 \$2.00 \$0.01	\$23,558.20 \$75.00 \$60.00 \$1.00	\$3.70 \$20.00 \$2.00 \$0.01	\$14,289.40 \$100.00 \$60.00 \$1.00	\$3.50 \$10.00 \$1.00 \$100.00	\$13,517.00 \$50.00 \$30.00 \$10,000.00	\$6.00 \$200.00 \$10.00 \$40.00	\$23,172.00 \$1,000.00 \$300.00 \$4,000.00
113 114 115 116 117	x7830090 xx006343 xx006658 xx006659 z0019600 z0030850 z0033046	MARKING 25" SEEDING (COMPLETE) FLOCCULATION LOGS FLOCCULATION POWDER DUST CONTROL WATERING TEMPORARY INFORMATION SIGNING	3,862.00 5.00 30.00 100.00 78.00	SQ YD EACH POUND UNIT SQ FT	\$6.00 \$300.00 \$35.00 \$10.00 \$25.00	\$23,172.00 \$1,500.00 \$1,050.00 \$1,000.00 \$1,950.00	\$6.10 \$15.00 \$2.00 \$0.01 \$10.00	\$23,558.20 \$75.00 \$60.00 \$1.00 \$780.00	\$3.70 \$20.00 \$2.00 \$0.01 \$10.50	\$14,289.40 \$100.00 \$60.00 \$1.00 \$819.00	\$3.50 \$10.00 \$1.00 \$100.00 \$100.00	\$13,517.00 \$50.00 \$30.00 \$10,000.00 \$780.00	\$6.00 \$200.00 \$10.00 \$40.00 \$20.00	\$23,172.00 \$1,000.00 \$300.00 \$4,000.00 \$1,560.00
113 114 115 116 117 118	x7830090 xx006343 xx006658 xx006659 z0019600 z0030850 z0033046 z0033700	MARKING 25" SEEDING (COMPLETE) FLOCCULATION LOGS FLOCCULATION POWDER DUST CONTROL WATERING TEMPORARY INFORMATION SIGNING	3,862.00 5.00 30.00 100.00 78.00 1.00	SQ YD EACH POUND UNIT SQ FT EACH	\$6.00 \$300.00 \$35.00 \$10.00 \$25.00 \$1,800.00	\$23,172.00 \$1,500.00 \$1,050.00 \$1,000.00 \$1,950.00 \$1,800.00	\$6.10 \$15.00 \$2.00 \$0.01 \$10.00 \$1,128.00	\$23,558.20 \$75.00 \$60.00 \$1.00 \$780.00 \$1,128.00	\$3.70 \$20.00 \$2.00 \$0.01 \$10.50 \$1,162.00	\$14,289.40 \$100.00 \$60.00 \$1.00 \$819.00 \$1,162.00	\$3.50 \$10.00 \$10.00 \$100.00 \$100.00 \$10.00 \$1,128.00	\$13,517.00 \$50.00 \$30.00 \$10,000.00 \$780.00 \$1,128.00	\$6.00 \$200.00 \$10.00 \$40.00 \$20.00 \$1,300.00	\$23,172.00 \$1,000.00 \$300.00 \$4,000.00 \$1,560.00 \$1,300.00

業	LakeCo Division of	Dunty Transportation							
	Description:	B-01378		<b>Bid Deta</b>		d and dual right	turn lanes		
					Eng Est	imate			
ltem No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
					4	4	4.5.5-	4	444
1	20200100	EARTH EXCAVATION	2,056	CU YD	\$35.00	\$71,960.00			\$22.51
2	20400800	FURNISHED EXCAVATION	1,521	CU YD	\$35.00	\$53,235.00	\$0.01	\$59.10	\$22.28
3	20800150	TRENCH BACKFILL	56	CU YD	\$60.00	\$3,360.00	\$0.01	\$60.55	\$33.64
4	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	3,729	SQ YD	\$2.00	\$7,458.00	\$1.60	\$2.00	\$1.90
5	21101615	TOPSOIL FURNISH AND PLACE, 4"	3,862	SQ YD	\$6.00	\$23,172.00	\$0.01	\$4.00	\$1.05
6	25000400	NITROGEN FERTILIZER NUTRIENT	72	POUND	\$3.00	\$216.00	\$1.00	\$5.00	\$2.03
7	25000600	POTASSIUM FERTILIZER NUTRIENT	72	POUND	\$3.00	\$216.00	\$1.00	\$5.00	\$2.03
8	25100630	EROSION CONTROL BLANKET	3,335	SQ YD	\$1.00	\$3,335.00	\$1.30	\$2.20	\$1.88
9	28000250	TEMPORARY EROSION CONTROL SEEDING	80	POUND	\$6.00	\$480.00	\$0.01	\$5.00	\$1.33
10	28000400	PERIMETER EROSION BARRIER	1,015	FOOT	\$3.00	\$3,045.00	\$2.00	\$3.50	\$2.88
11	28000510	INLET FILTERS	2	EACH	\$150.00	\$300.00	\$30.00	\$285.00	\$170.00
12	28100109	STONE RIPRAP, CLASS A5	5	SQ YD	\$150.00	\$750.00	\$120.00	\$375.00	\$279.50
13	28200200	FILTER FABRIC	12	SQ YD	\$50.00	\$600.00	\$0.01	\$40.00	\$13.25

	LakeCo Division of	Dunty Transportation							
	Section:			<b>Bid Deta</b>		d and dual right	turn lanes		
ltem No.	Pay Code	Description	Quantity	Unit	Eng Est Unit Price	imate Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
14	<i>.</i> 30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	3,264	SQ YD	\$20.00	\$65,280.00	\$12.00		
15	35101800	AGGREGATE BASE COURSE, TYPE B 6"	40	SQ YD	\$30.00	\$1,200.00	\$11.00	\$44.25	\$26.81
16	40600290	BITUMINOUS MATERIALS (TACK COAT)	4,615	POUND	\$1.00	\$4,615.00	\$0.01	\$0.50	\$0.13
17	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	10	TON	\$300.00	\$3,000.00	\$100.00	\$170.00	\$120.00
18	40600535	LEVELING BINDER (HAND METHOD), N70	10	TON	\$300.00	\$3,000.00	\$100.00	\$170.00	\$120.00
19	40600827	POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	320	TON	\$110.00	\$35,200.00	\$117.15	\$140.00	\$123.74
20	40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	98	SQ YD	\$7.00	\$686.00	\$1.00	\$23.00	\$6.55
21	40600990	TEMPORARY RAMP	98	SQ YD	\$20.00	\$1,960.00	\$1.00	\$35.00	\$9.55
22	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	860	TON	\$85.00	\$73,100.00	\$84.00	\$87.30	\$85.20
23	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	639	TON	\$90.00	\$57,510.00	\$90.65	\$95.00	\$92.43
24	42001300	PROTECTIVE COAT	279	SQ YD	\$2.00	\$558.00	\$0.01	\$4.20	\$2.80
25	44000100	PAVEMENT REMOVAL	453	SQ YD	\$10.00	\$4,530.00	\$12.00	\$55.00	\$26.45

業	LakeCc	Dunty Transportation							
	Section:		Return		-	d and dual right	turn lanes		
ltem No.	Pay Code	Description	Quantity	Unit	Eng Est Unit Price	imate Extnd. Price	Min Bid Prico	Max. Bid Price	Aug. Bid Prico
26	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	5,295	SQ YD	\$3.50	\$18,532.50	\$3.45		_
27	44201761	CLASS D PATCHES, TYPE I, 10 INCH	265	SQ YD	\$120.00	\$31,800.00	\$40.00	\$100.00	\$55.30
28	44201765	CLASS D PATCHES, TYPE II, 10 INCH	265	SQ YD	\$100.00	\$26,500.00	\$40.00	\$100.00	\$55.30
29	44201769	CLASS D PATCHES, TYPE III, 10 INCH	18	SQ YD	\$100.00	\$1,800.00	\$40.00	\$100.00	\$55.30
30	44213200	SAW CUTS	2,084	FOOT	\$2.75	\$5,731.00	\$3.00	\$4.50	\$3.44
31	48101200	AGGREGATE SHOULDERS, TYPE B	137	TON	\$40.00	\$5 <i>,</i> 480.00	\$35.00	\$100.00	\$61.39
32	54213657	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	1	EACH	\$600.00	\$600.00	\$700.00	\$4,000.00	\$1,926.75
33	54213663	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 18"	2	EACH	\$750.00	\$1,500.00	\$800.00	\$5,000.00	\$2,336.25
34	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	86	FOOT	\$45.00	\$3,870.00	\$54.60	\$100.00	\$83.15
35	550A0090	STORM SEWERS, CLASS A, TYPE 1 18"	70	FOOT	\$50.00	\$3,500.00	\$70.05	\$120.00	\$96.51
36	55100900	STORM SEWER REMOVAL 18"	66	FOOT	\$8.00	\$528.00	\$10.00	\$30.00	\$19.53
37	60100905	PIPE DRAINS 4"	100	FOOT	\$25.00	\$2,500.00	\$0.01	\$27.90	\$15.23
38	60100915	PIPE DRAINS 6"	100	FOOT	\$30.00	\$3,000.00	\$0.01	\$28.90	\$16.98
39	60108104	PIPE UNDERDRAINS, TYPE 1, 4"	1,832	FOOT	\$20.00	\$36,640.00	\$3.40	\$10.00	\$6.35

	LakeCc Division of	Dunty Transportation							
	Section:		Return		Dld McHenry Roa		turn lanes		
Itom No.	Pay Code	Description	Quantity	Unit	Eng Est	imate Extnd. Price	Min Bid Drice	Max. Bid Price	Aug. Rid Drico
Item No.	-	CATCH BASINS, TYPE C, TYPE 24 FRAME AND			Unit Price				_
40	60208240	GRATE	1	EACH	\$2,000.00	\$2,000.00	\$1,525.00	\$5,000.00	\$2,885.00
41	60719540	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 24 FRAME AND GRATE	1	EACH	\$3,000.00	\$3,000.00	\$2,985.00	\$6,000.00	\$3,826.25
42	60300305	FRAMES AND LIDS TO BE ADJUSTED	1	EACH	\$1,500.00	\$1,500.00	\$375.00	\$1,050.00	\$681.25
43	60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	815	FOOT	\$25.00	\$20,375.00	\$24.00	\$41.75	\$30.15
44	61100500	EXPLORATION TRENCH 52" DEPTH	50	FOOT	\$50.00	\$2,500.00	\$10.00	\$46.80	\$29.20
45	67100100	MOBILIZATION	1	L SUM	\$42,000.00	\$42,000.00	\$41,000.00	\$55,000.00	\$47,442.39
46	70300100	SHORT TERM PAVEMENT MARKING	4,614	FOOT	\$1.00	\$4,614.00	\$0.01	\$1.00	\$0.27
47	70300150	SHORT TERM PAVEMENT MARKING REMOVAL	513	SQ FT	\$1.50	\$769.50	\$0.01	\$2.00	\$1.01
48	70300900	PAVEMENT MARKING TAPE, TYPE IV - LETTERS AND SYMBOLS	556	SQ FT	\$5.50	\$3,059.10	\$0.01	\$3.00	\$0.76
49	70300904	PAVEMENT MARKING TAPE, TYPE IV 4"	3,404	FOOT	\$1.00	\$3,404.00	\$0.01	\$1.20	\$0.31
50	70300905	PAVEMENT MARKING TAPE, TYPE IV 5"	1,215	FOOT	\$1.25	\$1,518.75	\$0.01	\$1.50	\$0.38
51	70300906	PAVEMENT MARKING TAPE, TYPE IV 6"	1,761	FOOT	\$1.50	\$2,641.50	\$0.01	\$1.80	\$0.46
52	70300912	PAVEMENT MARKING TAPE, TYPE IV 12"	504	FOOT	\$3.00	\$1,512.00	\$0.01	\$5.00	\$1.26

**	LakeCo Division of	Dunty Transportation							
			Return			d and dual right	turn lanes		
ltem No.	Pay Code	Description	Quantity	Unit	Eng Est Unit Price	imate Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
53		PAVEMENT MARKING TAPE, TYPE IV 24"	155	FOOT	\$6.00	\$930.00	\$0.01	\$6.00	\$1.51
54		SIGN PANEL - TYPE 1	22	SQ FT	\$30.00	\$660.00	\$35.00	\$42.00	\$39.25
55	72400310	REMOVE SIGN PANEL - TYPE 1	5	SQ FT	\$25.00	\$125.00	\$25.00	\$50.00	\$31.56
56	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	556	SQ FT	\$4.00	\$2,224.80	\$4.00	\$4.75	\$4.31
57	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	3,404	FOOT	\$0.75	\$2,553.00	\$0.63	\$1.30	\$0.82
58	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	1,215	FOOT	\$1.00	\$1,215.00	\$0.70	\$1.60	\$0.96
59	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	1,761	FOOT	\$1.50	\$2,641.50	\$0.80	\$2.00	\$1.19
60	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	504	FOOT	\$3.00	\$1,512.00	\$1.70	\$4.00	\$2.58
61	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	155	FOOT	\$6.00	\$930.00	\$4.00	\$8.00	\$5.31
62	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	10	EACH	\$25.00	\$250.00	\$50.00	\$100.00	\$66.25
63	81028200	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2" DIA.	111	FOOT	\$25.00	\$2,775.00	\$18.50	\$20.00	\$19.03

業	LakeCo Division of	Dunty Transportation							
	Project: Section: Description: CPMS Pin: Let Date:		Return I		-	d and dual right	turn lanes		
					Eng Est	imate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
64	81028220	UNDERGROUND CONDUIT, GALVANIZED STEEL, 3" DIA.	57	FOOT	\$30.00	\$1,710.00	\$27.90	\$30.00	\$28.64
65	81028240	UNDERGROUND CONDUIT, GALVANIZED STEEL, 4" DIA.	52	FOOT	\$50.00	\$2,600.00	\$44.10	\$49.00	\$45.66
66	81400200	HEAVY-DUTY HANDHOLE	1	EACH	\$2,100.00	\$2,100.00	\$1,853.00	\$2,000.00	\$1,904.00
67	87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	473	FOOT	\$1.20	\$567.60	\$1.20	\$2.00	\$1.41
68	87301245	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 5C	429	FOOT	\$1.40	\$600.60	\$1.40	\$2.00	\$1.56
69	87301255	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 7C	238	FOOT	\$1.60	\$380.80	\$1.70	\$2.00	\$1.79
70	87301305	ELECTRIC CABLE IN CONDUIT, LEAD-IN, NO. 14 1 PAIR	869	FOOT	\$1.30	\$1,129.70	\$1.00	\$1.20	\$1.08
71	87301900	ELECTRIC CABLE IN CONDUIT, EQUIPMENT GROUNDING CONDUCTOR, NO. 6 1C	153	FOOT	\$1.85	\$283.05	\$1.60	\$2.00	\$1.71
72	87700230	STEEL MAST ARM ASSEMBLY AND POLE, 38 FT.	1	EACH	\$9,000.00	\$9,000.00	\$11,106.00	\$13,000.00	\$11,663.00
73	87800100	CONCRETE FOUNDATION, TYPE A	4	FOOT	\$250.00	\$1,000.00	\$196.30	\$220.00	\$203.70

**	LakeC( Division of	Dunty Transportation									
	Return Bid Details         Project:       Old McHenry Road at US Route 12 Improvements         Section:       17-00085-10-CH         Description:       This work consists of constructing dual left turn lanes from US Route 12 to Old McHenry Road and dual right turn lanes         CPMS Pin:       B-01378         Let Date:       2/12/2019										
					Eng Est						
Item No.	-	Description CONCRETE FOUNDATION, TYPE E 36-INCH	Quantity	Unit	Unit Price			Max. Bid Price	_		
74	87800415	DIAMETER	11	FOOT	\$300.00	\$3,300.00	\$247.00	\$270.00	\$254.75		
75	87900200	DRILL EXISTING HANDHOLE	2	EACH	\$350.00	\$700.00	\$347.00	\$390.00	\$361.00		
76	88030020	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, MAST- ARM MOUNTED	1	EACH	\$1,150.00	\$1,150.00	\$830.00	\$1,000.00	\$878.75		
77	88030050	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, BRACKET MOUNTED	1	EACH	\$950.00	\$950.00	\$819.00	\$1,000.00	\$870.75		
78	88200510	TRAFFIC SIGNAL BACKPLATE, RETROREFLECTIVE	3	EACH	\$250.00	\$750.00	\$306.00	\$340.00	\$318.00		
79	88500100	INDUCTIVE LOOP DETECTOR	2	EACH	\$200.00	\$400.00	\$160.00	\$180.00	\$166.25		
80	88600100	DETECTOR LOOP, TYPE I	461	FOOT	\$30.00	\$13,830.00	\$16.20	\$18.00	\$16.78		
81	88700200	LIGHT DETECTOR	2	EACH	\$1,500.00	\$3,000.00	\$1,079.00	\$1,200.00	\$1,117.35		
82	88700300	LIGHT DETECTOR AMPLIFIER	1	EACH	\$4,500.00	\$4,500.00	\$3,985.00	\$4,400.00	\$4,118.75		
83	89000100	TEMPORARY TRAFFIC SIGNAL INSTALLATION	1	EACH	\$40,000.00	\$40,000.00	\$29,950.00	\$33,000.00	\$30,937.13		
84	89500100	RELOCATE EXISTING SIGNAL HEAD	3	EACH	\$500.00	\$1,500.00	\$648.00	\$700.00	\$666.00		
85	89501150	RELOCATE EXISTING TRAFFIC SIGNAL POST	1	EACH	\$750.00	\$750.00	\$512.00	\$600.00	\$538.50		
86	89502200	MODIFY EXISTING CONTROLLER	1	EACH	\$2,000.00	\$2,000.00	\$1,781.00	\$2 <i>,</i> 000.00	\$1,849.25		

業	LakeCo Division of	Dunty Transportation							
	Return Bid Details         Project:       Old McHenry Road at US Route 12 Improvements         Section:       17-00085-10-CH         Description:       This work consists of constructing dual left turn lanes from US Route 12 to Old McHenry Road and dual right turn lanes         CPMS Pie       B-01378         Let Date:       2/12/2019								
Item No.	Pay Code	Description	Quantity	Unit	Eng Est Unit Price	imate Extnd. Price	Min Bid Brico	Max. Bid Price	Ava Bid Prico
87	•	MODIFY EXISTING CONTROLLER CABINET	Quantity 1	EACH	\$1,000.00	\$1,000.00	\$1,081.00	\$1,200.00	\$1,119.25
88		REMOVE ELECTRIC CABLE FROM CONDUIT	1,557	FOOT	\$0.75	\$1,167.75	\$0.40		\$0.45
89	89502375	REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	1	EACH	\$1,500.00	\$1,500.00	\$1,760.00		\$1,833.20
90	89502380	REMOVE EXISTING HANDHOLE	1	EACH	\$375.00	\$375.00	\$440.00	\$500.00	\$457.50
91	89502385	REMOVE EXISTING CONCRETE FOUNDATION	2	EACH	\$400.00	\$800.00	\$220.00	\$250.00	\$228.75
92	LC200051	REJECTED LOAD TRANSPORTATION	5	LOAD	\$200.00	\$1,000.00	\$50.00	\$265.00	\$132.50
93	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	8,339	UNIT	\$1.00	\$8,339.00	\$1.00	\$1.00	\$1.00
94	LC200502	PERMEABLE PLASTIC BERM	106	FOOT	\$25.00	\$2,650.00	\$10.00	\$19.00	\$14.75
95	LC600200	INSTALL SURVEY MONUMENTS	1	EACH	\$2,000.00	\$2,000.00	\$1,000.00	\$4,000.00	\$1,875.00
96	X0324085	EMERGENCY VEHICLE PRIORITY SYSTEM LINE SENSOR CABLE, NO. 20 3/C	473	FOOT	\$1.15	\$543.95	\$1.00	\$1.20	\$1.10
97	X0327980	PAVEMENT MARKING REMOVAL - WATER BLASTING	603	SQ FT	\$5.00	\$3,015.00	\$3.00	\$4.00	\$3.29
98	X2070304	POROUS GRANULAR EMBANKMENT, SPECIAL	100	CU YD	\$70.00	\$7,000.00	\$35.00	\$80.00	\$65.30

業	LakeCo Division of	Dunty Transportation								
	Return Bid Details         Project:       Old McHenry Road at US Route 12 Improvements         Section:       17-00085-10-CH         Description:       This work consists of constructing dual left turn lanes from US Route 12 to Old McHenry Road and dual right turn lanes         CPMS Pin:       B-01378         Let Date:       2/12/2019									
					Eng Est					
Item No.	,	Description	Quantity	Unit	Unit Price	Extnd. Price		Max. Bid Price		
99		EROSION CONTROL BLANKET (SPECIAL)	530	SQ YD	\$4.00	\$2,120.00	\$2.00	\$4.00	\$2.81	
100	X2800500	INLET PROTECTION, SPECIAL	2	EACH	\$400.00	\$800.00	\$100.00	\$450.00	\$216.25	
101	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	5	CAL MO	\$3,000.00	\$15,000.00	\$1,200.00	\$3,000.00	\$2,200.00	
102	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1	L SUM	\$21,000.00	\$21,000.00	\$8,525.00	\$136,000.00	\$76,631.25	
103	X7015005	CHANGEABLE MESSAGE SIGN	150	CAL DAY	\$40.00	\$6,000.00	\$28.00	\$35.00	\$30.13	
104	X7030005	TEMPORARY PAVEMENT MARKING REMOVAL	3,892	SQ FT	\$0.70	\$2,724.40	\$0.01	\$1.00	\$0.38	
105	X7240500	RELOCATE EXISTING SIGNS	1	EACH	\$1,000.00	\$1,000.00	\$100.00	\$500.00	\$275.00	
106	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	96	EACH	\$35.00	\$3,360.00	\$40.00	\$64.00	\$50.35	
107	X7830060	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	374	SQ FT	\$10.00	\$3,742.00	\$1.20	\$3.15	\$2.34	
108	X7830070	GROOVING FOR RECESSED PAVEMENT MARKING 5"	3,328	FOOT	\$1.00	\$3,328.00	\$0.50	\$0.70	\$0.59	
109	X7830072	GROOVING FOR RECESSED PAVEMENT MARKING 6"	1,089	FOOT	\$1.25	\$1,361.25	\$0.50	\$1.00	\$0.78	

業	LakeC( Division of	Dunty Transportation								
	Return Bid Details         Project:       Old McHenry Road at US Route 12 Improvements         Section:       17-00085-10-CH         Description:       This work consists of constructing dual left turn lanes from US Route 12 to Old McHenry Road and dual right turn lanes         CPMS Pin:       B-01378         Let Date:       2/12/2019									
		<b>2</b>	<b>.</b>		Eng Est					
Item No.	,	Description GROOVING FOR RECESSED PAVEMENT	Quantity	Unit	Unit Price	Extnd. Price		Max. Bid Price		
110	X7830074	MARKING 7"	731	FOOT	\$1.50	\$1,096.50	\$0.70	\$1.05	\$0.88	
111	X7830078	GROOVING FOR RECESSED PAVEMENT MARKING 13"	504	FOOT	\$2.50	\$1,260.00	\$1.20	\$1.60	\$1.45	
112	X7830090	GROOVING FOR RECESSED PAVEMENT MARKING 25"	50	FOOT	\$5.00	\$250.00	\$3.00	\$5.00	\$3.54	
113	XX006343	SEEDING (COMPLETE)	3,862	SQ YD	\$6.00	\$23,172.00	\$3.50	\$6.10	\$4.83	
114	XX006658	FLOCCULATION LOGS	5	EACH	\$300.00	\$1,500.00	\$10.00	\$200.00	\$61.25	
115	XX006659	FLOCCULATION POWDER	30	POUND	\$35.00	\$1,050.00	\$1.00	\$10.00	\$3.75	
116	Z0019600	DUST CONTROL WATERING	100	UNIT	\$10.00	\$1,000.00	\$0.01	\$100.00	\$35.01	
117	Z0030850	TEMPORARY INFORMATION SIGNING	78	SQ FT	\$25.00	\$1,950.00	\$10.00	\$20.00	\$12.63	
118	Z0033046	RE-OPTIMIZE TRAFFIC SIGNAL SYSTEM LEVEL 2	1	EACH	\$1,800.00	\$1,800.00	\$1,128.00	\$1,300.00	\$1,179.50	
119	Z0033700	LONGITUDINAL JOINT SEALANT	4,625	FOOT	\$3.50	\$16,187.50	\$2.00	\$3.30	\$2.88	
120	Z0073510	TEMPORARY TRAFFIC SIGNAL TIMING	1	EACH	\$1,500.00	\$1,500.00	\$770.00	\$1,620.00	\$1,021.25	
		Bid Total				\$898,251.75				